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@k 1, 000 109.10. 06 | A+ ¢ fcBs ~ HEpfers ~ 2 Fkes ~ 2 £ fik
207 1,000 109.10. 06 | A+ ¢ FcBs ~ HERFTES ~ 2 JE s ~ 4 £ f7id
ZO% 1,000 109.10. 06 | - ¢ Fces ~ HEpgers ~ 2 Fdees ~ 4 £ ok
O 1,000 109.10. 06 | A- ¢ f7Es ~ EEpfees ~ 4 Fes ~ 4 £ 3k
202 1,000 109.10. 06 | A- € fcB% ~ HEEfrs ~ 2 3F 40 ~ 2 £ A
2 O* 1,000 109.10. 06 | A+ ¢ fcBs ~ HERFTES ~ 2 JF ks ~ 4 £ fik
HO= 1,000 109.10. 06 | A ¢ 4284 ~ A Ergees ~ 453k~ % £ 3
0% 5,000 109.10. 21 | A+ ¢ fcBs ~ HERFTES ~ 2 B3k s ~ 4 £ fidk
20a 1,000 109. 11. 03 | A- € Fees ~ HEpgers ~ 2 Fdees ~ 4 £ 1ok
207 1,000 109.11. 03 | A- ¢ fcBs ~ HERFTES ~ 2 B3kt ~ 4 £ fidk
2O% 1,000 109.11. 03 | A- € FcBs ~ HERFES ~ 2 JF ks ~ 4 £ f7id
IO 1,000 109.11. 03 | AL € dc8s ~ Hapfees ~ 4 B 5~ 2 L ok
U QES 1,000 109.11. 03 | A- ¢ FcBs ~ HERFTES ~ 2 JE e s ~ 4 £ f7id
2O 1,000 109.11. 03 | A+ ¢ fcBs ~ HEpfers ~ 2 7Bkt ~ 2 £ ik
HO= 1,000 109.11. 03 | A- € FcBs ~ HERFES ~ 2 JE e Es ~ 4 £ f7
=0/ 2,000 109.11. 03 | A+ ¢ fcBs ~ HEpfers ~ 2 Bkes ~ 2 £ ik
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IO 1, 000 109.11. 09 | A+ ¢ fcBs ~ HEpfers ~ 2 7Fkes ~ 2 £ foik
O 300 109.12. 01 | A+ ¢ FcBs ~ HERFES ~ 2 JF ks ~ 4 £ fd
20 1,000 109.12. 02 | A- ¢ Fees ~ HEpfers ~ 2 B ~ 4 £ 1ok
mO® 1,000 [ 109.12.02| kg o84 ~ AFEfers ~ 2 72304~ £ £ gl
2O 1,000 109.12. 02 | A § Fc24 ~ EEpfees ~ 255~ 4 £ 03
O 1,000 109.12. 02 | A- € f7ms ~ AEpgees ~ 4 F4es ~ 4 £ 3k
20z 1,000 109.12. 02 | A- ¢ Fees ~ HEpfers ~ 2 B ~ 4 £ 1ok
2 O* 1,000 109.12. 02 | A+ ¢ fcBs ~ HERFTES ~ 2 B3k s ~ 4 £ fik
HO= 1,000 109.12. 02 | A- ¢ #c25 ~ A¥pfers ~ 2 7530~ % £ gk
¥ O 10, 000 109.12. 21 | A- € fcBs ~ HERFTES ~ 2 JF ks ~ 4 £ fik
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